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Part - I (General Intelligence)

IfA=1; AND = 19 then BAT = ?

(A) 22 (B) 23

(C) 21 (D) 20

In a particular way the word STAG is coded
as HGZT. HORN as SLIM. Using the same
coding, how can NORTH be written?

(A) NLGMI (B) MLIGS

(C) MGLIS (D) NLGIS

Directions: From the given alternatives select
the word which canbe formed using the letters
given in the word.

3.

INTERNATIONAL
(A) ANNUAL (B) LAMINATION
(C) TERMINATE (D) INTERNAL
Identify the correct response from the given
premises stated according to following sym-
bols.
If '-'stands for division

'+' stands for multiplication

'+' stands for subtraction

'x' stands for addition
(A) 18 + 14 -24 x 12 + 16 = 12
(B) 16 x 14 -24 + 18 + 12 = -24
(C)24-12+ 12+ 16 x 18 = 26
D)18+16+12x 18+ 12 =24
Select the correct combination of math-
ematical signs to replace * signs and to bal-
ance the following equation.
7*5*%5%4*10
() ++-= (B) x - = x
(C)x+=x (D)+x+=
If34*12=23,28*76=>52,97 *39 =68
then, what should 37 * 73 be?
(A) 32 (B) 25
(C) 86 (D) 55

A statement is given followed by two

conclusions, I and II. You have to consider

the statement to be true, even if it seems

to be at variance from commonly known

facts. You are to decide which of the given

conclusions can definitely be drawn from

the given statement. Indicate your

answer.

Statement

Child rearing is an art; young parents need

training in child-rearing practices.

Conclusions:

I. Now-a-days young parents know nothing
about child rearing.

II. Training will enable the young couples
to become better parents.

Ph:

10.

11.
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(A)
(B)
(C) Neither I nor II follows
(D) Both I andII follow

Only I follows
Only II follows

A statement is given followed by four
assumptions, (A), (B), (C) and (D). You have
to consider the statement to be true, even
if it seems to be at variance from
commonly known facts. You are to decide
which of the given assumptions can
definitely be drawn from the given
statement. Indicate your answer.
Statement:

Television has a strong influence in the
young children's development.
Assumptions:

(A) Children watching TV should be
controlled by the parents

(B) Young children should not be allowed to
watch TV programmes

(C) Television affects the academic
progress of the young children

(D) While developing TV programmes,
educational, developmental and moral
aspects of children should be taken care
of

If the day before yesterday was Wednesday
when will Sunday be ?

(A) Today

(B) Two days after today
(C) Tomorrow

(D) Day after Tomorrow

Raju is standing facing north. He goes 30
metres ahead and turns left and goes for 15
metres. Now he turns right and goes for 50
metres, and finally turns to his right and
walks. In which direction is he heading?
(A) North (B) East

(C) South (D) West

Which set of letters when sequentially
placed at the gaps in the given letter series
shall complete it?
acb__ce__f__
(A) dde

(C) dee

(B) cde
(D) ddg
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Part - I ( GehITieR UII&T0T)

If A=1; 3 AND = 19 dd BAT = ?

(A) 22 (B) 23

(C) 21 (D) 20

T fo¥I% YR ¥ STAG VI &1 HGZT, HORN &l
SLIM feren (#1e) fman T 21 36 Fig 1 9 T
NORTH ! @ eI feran s Herel 272

(A) NLGMI (B) MLIGS

(C) MGLIS (D) NLGIS
frdon:- fau gu fasedt @ & 3@ s @t U S A=
faw 7T vt o wnfue aterl @ W Heha Bl
3. INTERNATIONAL

(A) ANNUAL (B) LAMINATION

(C) TERMINATE (D) INTERNAL

afe - 1 a1 T W, 4 T e § em, '+ T o
T T SR ' 1 o1 § e qf hE-T FHiR
T 2

(A) 18 + 14 -24 x 12+ 16 = 12

(B) 16 x 14 - 24 + 18 + 12 = -24
(C)24-12+12+ 16 x 18 = 26

(D) 18 +16+12 x 18+ 12 =24
frfafea T &1 ggfaa e qon * fo=i =t
giaeenfud & & fore it fal &1 98t %9 9E

iapl

7*5*5*%4*10

(A) ++-= (B) x - = x
(C)x+=x (D)+x+=

g 34 * 12 =23,28* 76 =52,97 *39 =68 d
37 * 73 TN B =1fEQ?

(A) 32 (B) 25

(C) 86 (D) 55

T goed faan man €, fmes om 9t frend, 1
3R 11 fau g €)1 euent fomm e @ T aaae
T § O 9% WHra: 9 qgi § g wdta grar
&N aTuent foofa e @ fo fou o oemea & @
- Tifvem w0 9 T freerd femtem ST geRar
21 o1 SR st fafde @it

kA

feTgqaTer Uk e €; o wrar-fudn i e
Gfai o wfvreror w1 e gt 2l

Toreeet:

1. ekl a1 Aal-faar 1 fEer &1 w1 9m

T B
I1. wfereror & a1 goafq st wmar-faar a9 s

Ph:

10.

11.
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)
(B) wee 11 ehern 21
(C) 7 1 foeheran ® 3R 7 & 11
(D) 1 <@ 11 ST Fiererd €

T eaed faan man §, foweh o = gaiaam,

(A), (B), (C) 3R (D) faw T 21 sruent ferem

O 2 TR e v € e 9 | Ji ae

A Ryt weita grar enl andent Frota s @ s fau

T e ¥ | sht-w Tl = | W@ gaigEe

Rt T Tehdl 21 2109 3T o Tafdse wnfm)

kA

foreiR a=ai & o™ ¥ 2efifas @1 9gd g91d 9gdl

2l

oot

(A) o do I@A FTE Tedl W AT-faar i o
TG =fen

(B) T3] S==il 1 To dlo & HIHHH ol @
=feT

(C) Tro oo TR aredl 1 Siferer Wifd W G g
<Ter ®

(D) Fo oo & FHRHH S THA T=Al B e,
ferepTeeder 3R Afder Teeqeti 1 A |
=feT

Ffg did el ¥ ween 7 geer o q1 faar e

g2

NELE

(B) =<1 § ] 57 a8

(C) I 3Tl &d

(D) 39 aTet el | STTel foq

Y & qr@ S &9 21 9 30 Tt 1ml werhl S

el & 3R 15 HeX Sl 1 o1 98 S g 50

HieX S €, 3R ofd § < gt = €1 9% R

fa9m 1 &R = W@ 22

(A) SR (B) T

(C) =f&gor (D) afe=m

T AR @A F Wet WH W HH ¥ WH W

frefafed & 9§ H-91 9e-ge S8 T Ham?

acb__ce__f__

(A) dde

(C) dee

(B) cde
(D) ddg
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Directions: (Question Nos. 12) Which one of the
given responses would be a meaningful order
of the following words?

12. 1. Study 2. Job
4. Earn 5. Appointment
(A) 1,3,5,2,4
(B) 1,2,3,4,5
(C) 1,3,2,5,4
(D) 1,3,5,4,2
Direction (Q. Nos. 13-16): Select the related
letters/words/numbers from the given
alternatives.
13. EHGI:LONP: ?:ORQS

3. Examination

(A) GJIK (B) HKJL

(C) GIHJ (D) HJIK
14. 83:25::29:7?

(A) 25 B) 16

(C) 36 (D) 49
15. Book: Publisher: Film : ?

(A) Writer

(B) Editor

(C) Producer
(D) Director

16. CE:70::DE:?
(A) 90
(B) 60
(C) 120
(D) 210

17. The sum of the ages of 5 members compris-
ing a family, 3 years ago was 80 years. The
average age of the family today is the same
as it was 3 years ago, because of an addi-
tion of a baby during the intervening period.
How old is the baby?

(A) 6 months

(B) 1 year

(C) 2 years

(D) 2 years and 6 months

4
18. 5

Two different positions of the same dice are
shown above. If digit 1 be on the base, which
one among the following digits will be on

the top?
(A) 2 B)3
(C) 4 (D) 6

Ph:

HIG
ILM F
19.
K E
J C
AlB

How many triangles are there in the figure
given above?

(A) 18 (B) 20

(C) 28 (D) 34
Directions: In questions no. 20 and 21, from
the given alternatives select the word which

cannotbe formed using the letters of the given
word.

20. SIGNIFICANT

(A) SCANT (B) FIASCO

(C) GIANT (D) FACT
21. COMMISSIONER

(A) MISSION (B) COMMON

(C) MISSILE (D) SIREN

Directions : (Q. Nos. 22 - 25) A piece of paper is
folded and cut as shown below in the question
figures. From the given answer figures, indi-
cate how it will appear when opened.

22. Question Figures

Answer Figures

4

ool V|IOO
Oo||oQ|||laall|QO
(A) B  (© (D)

23. Question Figures

Ut Syt

5

Answer Figures

S|

(A) B) (€) (D)
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e (W, 9. 12): Fret faeredt § | si-w1 faerew =
fau TIu ot o w\redeR W FTEm?

12. 1. 1A
4. IUSH
(A) 1,3,5,2, 4
(B) 1,2,3,4,5
(C) 1,3,2,5,4
(D) 1, 3,5, 4,2

o (W E. 13 - 16): fo@ ™ fawmeat o ¥ wafm
e /ITE L /27t Al T

13. EHGI:LONP: ?: ORQS

2.%hM™

5. fraf

3. Tder

)
)
)
)

(A) GJIK (B) HKJL

(C) GIHJ (D) HJIK
14. 83:25::29:7?

(A) 25 (B) 16

(C) 36 (D) 49
15. Y& : YRk :: Tthed @ ?

(A) TrErh (B) =

(C) frmfam (D) fdersh
16. CE:70::DE:?

(A) 90 (B) 60

(C) 120 (D) 210

17. 5 & oel 9NaR 9 3 a6 qd 9+t &= Fi 31 H
I 80 I ol 39 URER &1 3 = 4o i sitwd 31y
off, a1t off ot € iR o7 T arafy R o T

forgy =1 9fg gg) forgg = ey @ 22

(A) 6 HTE (B) 1 &
(C) 2 = (D) 2 7% = 6 7S
18. S 4
6 3

1 1

Swad foe & us & Ui & < fafye feafaat et
T 1 Afg e 1 SMUR W @ dl frefatea § 9
-9 Teh ek IY o B2

(A) 2

(B)3
(C) 4
(D) 6

Ph:

HIG
M
19. I|L F
JIK C E
A|B
Sude amemfa | femad frenior 22
(A) 18 (B) 20
(C) 28 (D) 34

frdor: w. €. 20-21 ¥, fau gy faoredl ¥ @ 39 g &
Jfu W feu U v ° ynfaer 31eRl W TgT sAEn =
HehaTl

20. SIGNIFICANT

(A) SCANT (B) FIASCO

(C) GIANT (D) FACT
21. COMMISSIONER

(A) MISSION (B) COMMON

(C) MISSILE (D) SIREN

Tfor : (wew W 22 | 25) el U aMreRfaa ¥ fa@g
AR TS hl HIGHT i adT GieH & a1E 98 hd

IR TR S faatg am?

22. WY ATHfaAl :
7

I JTRIAT :
ool||OO|VYV||oa
ool||COl|laall|@o
(A) (B) (C) (D)

23. YYT il :

N
SR MR

S|

(A) B)

33

(D)

(€)
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25.

26.

27.

Answer Figures

o < < o

o o 0 o)f(o o o o
o < < o
(A) B) ©) (D)

Question Figures

h| &

Answer Figures

<—

(A) B) ©) (D)
Which answer figure will complete the
pattern in the question figure?
Question Figure :

Answer Figures :

(A) B) ©) (D)

From the given answer figures, select the
one in which the question figure is hidden/
embedded.

Question Figure :

ik

Answer Figures :

QDA

(A) B) (€) (D)

Directions : (Q. Nos. 28 - 35) In question nos.
find the odd number/letters/number/words
pair from the given alternatives.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

(A) Wolf (B) Cat

(C) Dog (D) Fox

(A) Wheat (B) Rice

(C) Jowar (D) Beans

(A) Garden—Gardener (B) Song—Singer
(C) Art—Artist (D) Dance—Dancer
(A) DI (B) KQ

(C)ou (D) AG

(A) EPH (B) FQI

(C)HSK (D) KWO

(A) BDGK (B) PRUY

(C) FGJK (D) KMPT

(A) (324, 18) (B) (441,21)

(C) (169, -13) (D) (186, 14)

(A) Hindi (B) Tamil

(C) Punjabi (D) Urdu

The sum of ages of 5 children born at the
intervals of 3 years each is 50 years. Which
one of the following is the age of the young-

est child ?
(A) 4 years (B) S years
(C) 6 years (D) 10 years

A solid cube is made using 64 small cubes.
How many cubes are not at all seen out?
(A) 2 (B) 4

(C)6 (D) 8

In a group of five players A, B, C,D & E

(i) A and C are good at Football & Baseball
(ii) B and C are good at Football & Basketball
(iii) E and D are good at Throwball & Cricket

(iv) B and D are good at Throwball &
Basketball

(v) Eis good at Cricket, Basebal, Throwball

Who is good at Football, Throwball and

Basketball?
(A)B (B)C

(C)D (D) A

01127607854, 08860-333-333
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24. U9 ATRidAT : T : we W 28 - 35; W aek |, fauw 7w faemedt |
w foawm @E&/seR/uen, s g i
& 28. (A) sifem (B) fareit
< (C) = (D) @S
ST SRt 29. (A)T (B) =l
a > > a (C) sar (D) &
|:|D|:| <>°<> <>°<> = 30. (A) 9T - A (B) T - e
(C) el - FHeHR (D) 7 - 0%
©) (D) 31. (A)DI (B)KQ
(C)OoU (D) AG
~ 32. (A)EPH (B) FQI
\o” (C) HSK (D) KWO
33. (A)BDGK (B) PRUY
(C) FGJK (D) KMPT
34. (A) (324, 18) (B) (441, 21)
o o llls% (C) (169, -13) (D) (186, 14)
oio R 35. (A)fe= (B) dfHe
C) uSTsit D
W ®m  © o ©) P)=2
26. HIA-E IW HiA YA A & Uawd H qU | 36. ek qIF a6 % STAUEl W S gY S TAl F Y
it 1 el A 50 9 71 Frefared & @ wiF @ T, 9ol
WY STTHT : B o=d hi IR 22
(A) 4 = (B) 5=
s (C) 6 = (D) 10 7%
37. T& 39 4 BR-BIR 64 ¥ H1 YA Hd gL TR0
IT TR T R T U o B2 5 et fe@rg e <4 22
(A) 2 (B) 4
7
(C)6 (D) 8
38. A, B, C, D @R E du faarct €, e 9
(A) (B) (C) (D)
27. & TR IR A W Ul T e geA e (i) A 3R C Peaia 3R g § o1es
ffea 21
SR (ii) B #iR C Fedia 3R arehesial § o/ €l
(iii) E 3R D &t sfet 3 fwepe § o8 2|
IEI (iv) B 3R D i sife 3R seshedia o 3= 2|
YT 3MeRd : (v) E forehe —simeial, o sial § 31 2l
Fesid, 9 | SR arehesid § i 3=l 82
@ $E> gjt @ (A)B (B) C
W  ® © O @D D) A
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40.

41.

42.

The reflection of a clock in a mirror shows
time as 3 : 45. What is the actural time
shown in clock?
(A) 8:00 (B)8:10
(C)8:15 (D) 8:30

Rural population

Graduates

Hard<+—
Working
People

Honest People

Consider the above diagram and identify
from below the number that represents
graduate hardworking rural people who are

nothonest?
(A) 2 (B) 3
(€) 5 (D) 6

Six friends A, B, C, D, E and F are seated in
a circle facing centre. If F is between A and
D, Cis between E and B, E is not between
D and C, and D is 2" to the left of C; which
one of the following is the position of D?

(A) 27 to the right of A
(B) Next to the right of B
(C) 3™ to the left of B

(D) 4t to the right of A

=

Which one among the following is the water
image of the figure given above?

(A) (B)

43.

Which one among the following figures will
replace the question mark on the figure
given above?

- ~,

.......

- ~,

.......

Directions : (Q. Nos. 44 to 49 ) A series is given
with one term missing. Choose the correct
alternative from the given ones that will
complete the series.

44.

45.

46.

47.

B,F,J,N,R,V,ZD,HL,?

(A) M (B)O
(C)P (D) T
2,6,12,20, ?

(A) 30 (B) 32
(C) 38 (D) 40

2+2,6+3,12+4,20+5,30+6,?
(A) 40 +7 (B) 40 +8

(C) 42 + 7 (D) 45 + 7

Question figures

VWV

Answer figures

PNV A WA A

(A) B) (€) (D)

VIV |2
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39. TH U0 ¥ wE % wfafda § w3 : 45 K@ < w

B oreqe W et | feped =t €2
(€) (D)
(A) 8:00 (B)8:10

(C)8:15 (D) 8: 30

43.

_________
~~~~~~~

o ", - \
., - . B /
s N o ’ \ r
Y : ‘ v !
B t K
H : ' K
P ; n 5 !,
3 ; ) 5
3 B \ \
., A 4

..............
""""""""""""""""""

40.

frfafen sl § @ SF-9 ©F, Sww et
T yyafes o1 SfaeemeT w?

- ~,
- s,
o .
’ "\
’ Y
1 [
i 1
[ 1
1 I
L} n
. J
pOTSUIet. ‘
.....
e S
o S,
G "\
’ Y
' ]
1 1
i 1
v I
Y ’
N J
pO TN g

T ARG TR FIT IR el 56 9T | frdor; (wo @ 46 | 49 ) 7o TR R T & forrd
w1 wEEE S T T gRel qHio At F | e ug ow 81 9w faw T faeent § © oy faeen o

frefom wdt & < $Amer 79 2 S STIRA W T R
(A) 2 (B)3 44. B,F,J,N,R,V,Z,D,H,L,?
(©) 5 (D) 6 (A) M (B)O

(C) P (D) T
41. ®: M A,B,C,D,E3RF, (% 99 4 &% &

sAfogE o8 B A F, AR D% &= 8, C, E 3 B 45 2,6,12,20,?

F g 8, E, D3R C® a4 78l 8, 3IRD, C & i (A) 30 (B) 32

¥ W 7, 9 fefafed § 9 D &1 fearfd &9 @ © (C) 38 (D) 40

® 46. 2+2,6+3,12+4,20+5,30+6,?

(A) A < § qET (B) B T § sTIaT (A) 40 +7 (B) 40 + 8

(C) B® o™ @ drew (D) A % & @ =en (C) 42+ 7 (D) 45 + 7
a0, 47. U9 STTeRfqAl

B VN WV W |2

frefofaa & @ ®F o Tw o, Suda et @

EERCERU¥ Entdcicane)
(A) B (B) - M/\ \/V\/\ \/\/V\ \/\N
— — (A) B) ©) (D)
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48.

49.

Question figures

4
v
D

/ N

Answer figures

\ + N \ v
b | 1 | ¢
A\ ) / v v
(A) B) (©) D)
0,7,26,63,?
(A) 125 (B) 126
(C) 124 (D) 98

Directions: In question no. 50, two statement
are given followed by two Conclusions I and II.
You have to consider the two statements to be
true even if they seem to be at variance from
commonly known facts. You have to decide
which of the given Conclusions, if any, follow
from the given statements.

50. Statements: Some phones are watches.
All watches are guns.
Conclusions: [. All guns are watches.
II. Some guns are phones.
(A
B
(e
(D

) Only I follows
) Only II follows

) Either I or II follows
)

Neither I nor II follows

Ph: O11-27607854, 08860-333-333 El
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48. YT MHfaar ot : W |, 50; ® S YAl @ M Y e 1 iR I
fou g &1 3w W FE qg | etW g WX ot S
4 N N Tl W USAT , Ted TS T Y| oY 99 Y R AU
S P ? | mu Pt § & @, afx B @, R T e A
7 N Torererar 2
IR st 50. I @qﬁ?qﬁtﬁﬁﬁ%l
. geft =fedf s Bt 2
NI RN N frepd: 1. woh ag e o
| € ¢t 1. % 9% WA a6 &
N iv v’ (A) ot foeed 1 Foerern
(A) ®) © ) (B) et e 11 Foeren &
49. 0,7,26,63,? (C) = i forewd 1 fsheren 2 =1 frsshel 11
(A) 125 (B) 126 (D) 7 @t Tkl 1 fiemerar € @R 71 € fhdl 11
(C) 124 (D) 98
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Part - II (Arithmetic)

The bar graph given below shows the spending of

n
a family income on various items and savings (243)s 32t

57. The value of

during 2010. Observe the graph and answer Ques- N ool 1S
. 9".3
tions 51 to 55.
(A) 1 (B)9
Family Income spent during 2010 (in percentage) (C) 3 (D) 3n
% - 58. The average of 8 numbers is 20. The
20 20
| 1
Z 2 15 - average of first two numbers is 15~ and
= 2
o 15 1 125
2 10
© 10 - . 1 .
§ s that of the next three is 215. If the sixth
& 54
04 I number be less than the seventh and eighth

number by 4 and 7 respectively, then the

3 £ % o 5 £ 5
° £ £ 2 = 2 < eighth number is
& 88 2 3 5 °
o T = ®
© w = (A) 18 (B) 22
(C) 25 (D) 27

S51. The percent of income spent on food is

(A) 5% (B) 10 % .
(C) 12.5% (D) 20 % 8 days working 7 hours a day. If 2 persons

join them so as to complete the work in 4

59. 5 persons can prepare an admission list in

52. The percent of income spent on clothing

. days, they need to work per day for
exceeds that on savings by

(A) 12.5% (B)2.5% (A) 10 hours (B) 9 hours
(C) 10 % (D) 22.5 % (C) 12 hours (D) 8 hours
(0] . o

53. Ifthe total income of the family during 2010 60. 4 men and 6 women can complete a work

was ¥ 1,00,000, the savings of the family in in 8 days, while 3 men and 7 women can
2010 was complete it in 10 days. In how many days
. i

(A)% 1,750 (B) % 20,000 will 10 women complete it~
(€)% 12,500 (D) 250,000 (A) 50 (B) 45

54. The total expenses of the family on trans- (C) 40 (D) 35
port are equal to those spent on 6l. 4 mat-weavers can weave 4 mats in 4 days.
(A) savings (B) clothing At the same rate how many mats would be
(C) food (D) others woven by 8 mat-weavers in 8 days?

55. The savings of the family is more than that

A) 4 B
of expenditure incurred on :C)) 19 :D)) 816
(A) housing (B) clothing
(C) transport (D) other 62. A trader marked the price of his commodity

3 o,
56. The total number of integers between 100 s0 as to include a profit of 25%. He allowed

and 200, which are divisible by both 9 and 6 discount of 16% on the marked price. His
is actual profit was

(A)S B) 6 (A) 5% (B) 9%

(€))7 (D)8 (C) 16% (D) 25%
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Part -II ( 3TSRITTUTT )

Expenditure (in %)

51.

52.

53.

54.

55.

56.

= e 7o que-aTerE a¥ 2010 # T GRER i 3™ &1
fafis 7f W =99 TS = i <ian |1 e 1 SArgdw
ST ST A JeT T 51 | 55 & IW o-

Family Income spent during 2010 (in percentage)

E-
20 20
20 17.5
15
15 1 125
10
> I I
I 5
5_
0' T T T |I| T i
qIs T = H1 T A H1 9favE @
(A) S% (B) 10%
(C) 12.5% (D) 20 %

FUS W T HT T 3™ &1 YA F=d W AF &
wiar @ feran siferen 22
(A) 12.5 % (B) 2.5 %

(C) 10 % (D) 22.5 %

Ifg o 2010 H RN & /& 3@ T 1,00,000 off,
@ 2010 H uf@r #1 Hat s=ad of

(A) % 1,750 (B) 220,000

(C) % 12,500 (D) % 50,000

TRER g 9iaed W &4, 39 fFq 18 W fFHu U
= A 27

(A) == (B) &d=t

(C) wre (D) 3=

IER &1 s=q fEfafed § 9 fva ) fee =g
Y a1fues 27

(A) T (B) wd=t

(C) ufterg (D) 1=

100 Te 200 & &= 3T aTel 39 YUlishl, S 9 qeN
6 3 § fawifsa =i, &1 |7 9@ g

(B) 6

(D) 8

57.

58.

59.

60.

61.

62.

(243)s .3°"!

T F AE ©
(A) 1 (B) 9
(€)3 (D) 3¢

S HEmS H1 Ed 20 B UEe q Gl @i

s 15% ok sk @9 & 21% 3 ofz Do

T Tadl ¥ 4 HH 991 Sl ¥ 7 7 8, a1 A3
T Bl

5 =fe 7 Hve Yiafed & e Tk gaw 9=t 8 fa
H 491 X Fhd 1 A 38w H 4 T @A
% 399 U ST 2 =i 3 witferq forg o, @t 5=

gfafed ferae =0 &M & B2
(A) 10 =02 (B) 9 =
(C) 12 =2 (D) 8 5w

4 Tt SR 6 Aigend faae fe = =i 8 f& o
T H Ghd T Tk 3 SR 3R 7 Afgemd frerswt
39 10 & & QU 9% ghd €1 10 Hfgand 38 fraa
fel qu w?

4 T 4 =% 4 T § 97 whd B 36 U 9 8
FTHU g 8 & o fohat =g ot S wehit?

(B) 8
(D) 16

T AR 7 39 7 i HIFA 39 FHR Afhd
o S99 25% o1 A9 WiHAfAd 8 ST SR Jod W
I 16% T B2 1| IHeRT F2ed o o

(A) 5%
(C) 16%

(B) 9%
(D) 25%
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64.

65.

66.

07.

68.

69.

If D and E are the mid-points of the sides
AB and AC respectively of the A ABC in the
figure given above, the shaded region of the
triangle is what percent of the whole
triangular region?

v c

(A) 50%
(C) 75%

(B) 25%

(D) 60%

The product of two irrational numbers is
(A) Always irrational

(B) Always rational

(C) Always on integer

(D) Sometimes rational and sometimes
irrational

If the ratio of areas of two squares is
225:256, then the ratio of their perimeters
is

(A) 225 : 256
(C) 15: 16

(B) 256 : 225
(D) 16: 15

Mita's income is 25% more than that of Sita.
What percent is Sita's income less than
that of Mita?

(A) 25 (B) 24

1
(C) 225 (D) 20

IfA:B=3:4andB:C=6:5,thenA: (A+C)
is equal to

(A)9:10 (B)10:9
(C)9:19 (D) 19:9

If2/30fA=75% of B=0.60of C,then A:B
: Cis equal to

(A)9:8:10
(C)3:4:5

B)8:9:10
D)4:3:5

If the sum of two quantities is equal to three
times their difference, then the ratio of the
two quantities is

(A)1:3
(C)2:1
Ph-:

(B)3: 1
(D)2:3

71.

72.

73.

74.

75.

76.

77.

A's salary is 40% of B's salary and B's salary
is 25% of C's salary. What percentage of C's
salary is A's salary?

(A) 5%
(C) 15%

(B) 10%
(D) 20%

In an examination, 93% of students passed
and 259 failed. The total number of students
appearing at the examination was

(A) 3700 (B) 3850
(C) 3950 (D) 4200

The HCF of two numbers is 15 and their
LCM is 300. If one of the numbers is 60, the
other is

(A) 50
(C) 65

(B) 75
(D) 100

The value of (3 +22 )'3 + (3 -242 )'3 is

(A) 189 (B) 180
(C) 108 (D) 198

V5 33 . 22 |
\/§+\/§ \/§+\/§ 5+ is equal to
(A) O B) 2415
(C) 2v10 (D) 26

The average weight of A, B, C is 45 kg. If
the average weight of A and B be 40 kg and
that of B and C 43 kg, then the weight of B
is

(A) 17 kg
(C) 26 kg

(B) 20 kg
(D) 31 kg

A number, when divided by 119, leaves 19
as remainder. If the same numberis divided
by 17, then remainder thus obtained will
be

(A) 2
(C)9

If it is given that

(1°+2° +38% +4° +5%) =225
then the value of

(2° +4° + 6> +8° +10°) is

(A) 450
(C) 1800

(B) 900
(D) (225)°
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64.

65.

66.

07.

68.

69.

7Rl < T 3T |, fag D @en E e fs ABC
#1 qeeti AB @1 AC & wen fag 21 e &
BAMhd 9FT F1 &%, HA T & &ABA &I
feper wfeera 22

v c

(A) 50% (B) 25%
(C) 75% (D) 60%
T AT TEst w1 UES Bl 8-
(A) T A

(B) Ted ufdg

(C) WA T olieR

(D) it aia iR ef eafea

I qF I & AAFE B UG 225 : 256 &,
3% ARl T STEAE B

(A) 225 : 256 (B) 256 : 225
(C) 15: 16 (D) 16: 15

T T 3T Tl T T § 25% A4 ¢ | Fial Ht
a1 i & o 9§ forad ufaed w9 27

(A) 25 (B) 24

1
(©) 225 (D) 20

IR A:B=3:47MB:C=6:57%, @A : (A+C)
TS BN

(A)9:10
(C)9:19

(B) 10: 9
(D) 19:9

g A H12/3=B ®H 75% =C &1 0.6 &, d A

:B: C TR B

(A)9:8:10 (B)8:9:10

(C)3:4:5 D)4:3:5

I {1 A T IRTHS 3o ST 1 19 A1 &1, @

AT WSl § S| g

(A)1:3

) 2:1
Ph:

(B)3: 1
(D)2:3

70. AHI AT B P oad H140% & a1 B 194 C &

71.

72.

73.

74.

75.

76.

77.

A 1 25% T A H19aT C F 3 1 Todd gfged
22

(A) 5%
(C) 15%

(B) 10%
(D) 20%

fordt wlem § 93% fomneff ue T 921 259 % g
Taq <7 oo fornfefEl w e e oft

(A) 3700
(C) 3950

(B) 3850
(D) 4200

T Hemstl %1 1. 9. 15 991 391 o 9. 300 71 3
3T § TH G 60 B, al I B

(B) 75
(D) 100

(3+2\/§)'3 +(3-2\5)'3 HAE

(A) 189 (B) 180
(C) 108 (D) 198

5 3%3 + 2/2 NG
V3+\2 5+{2 5+3
(A) O (B) 215
(©) 2v10 (D) 246

A, B, C 1 3iiEd 4R 45 fF. . 21 35 A 3R B &1
3 9R 40 . 7. a9 B 3R C &1 43 f&. . =,
q B & 9R B

(A) 17 f. .
(C) 26 f. .

(B) 20 fe. .
(D) 31 . L.

fordt 9= 1 119 ¥ 911 39 W I9HA 19 U gia
21 afe 3= HWem w1 17 9 w9 fe S, q e
I BT

Ife (13+23+33+43+53)=225 fem =@, A
(23+43+63+83+103) T I R

(A) 450
(C) 1800

(B) 900
(D) (225)°

01127607854, 08860-333-333




PARAMOUNT

Coaching Centre Pvt. Ltd.
An ISO 9001: 2008 Certified Company

(of=1314 (-1 | 4l & MUKHERJEE NAGAR * MUNIRKA % UTTAM NAGAR * DILSHAD GARDEN # ROHINI * NARELA

78.

79.

80.

81.

82.

83.

84.

85.

The least number, which must be added to
the greatest 6 digit number so that the sum
may be exactly divisible by 327, is

oo (B) 194
(C) 264 (D) 294
ﬁ+\/§+ﬁ_\/§+\/§_l+\/§+l
V743 NT+3 3+l V3-1
is simplified to
(A)7 (B) 4
(C) 6 (D)9
3.19x3.19-1.81%x1.81 .
3.19-1.81 is equal to
(A) 5.0 (B) 6.0
(C)3.5 (D) 4.2

1
If 4% = e then the value of x is

Two numbers, when divided by 17, leave
remainders 13 and 11 respectively. If the
sum of those two numbers is divided by 17,
the remainder will be

(A) 13 (B) 11
(C) 7 (D) 4

1_ 64
\/l—x 105 x1.44 is equal to

4
L 24
(A) 155 B) 55
23 21
© 25 (D) 25

J40.000064 is equal to

(A) 0.0002 (B) 0.002
(C) 0.02 (D) 0.2
M is equal to

3J2-243

8) 5+26 ) 2120
(C) 5-243 (D) 5+243

Ph:

87.

88.

89.

90.

91.

92.

The number, that should be added to both

2
the numerator and denominator of 9—2 SO

that the fraction becomes 4/9, is

(A) 36
(C) 16

(B) O
(D) 81

A sum of money, which at some rate of

simple interest amounts to ¥ 2, 200 in 2
years and ¥ 2,300 in 3 years, is

(A)% 2,100
(C) % 1,800

(B) % 2,000
(D)% 1,600

A person invested ¥ 500 at a certain rate
percent per annum of simple interest and ¥
700 at 1% higher rate. If the total interest
from these investments in 3 years was %
165, the first rate was

(A) 4%
(C) 3.5%

(B) 5%
(D) 4.4%

The difference between compound and
simple interests on a certain sum of money
for 3 years at 10% per annum is ¥ 15.50.
The sum is

(A)% 1,550
(C) % 550

(B)% 1,500
(D) % 500

If the length of a rectangular field is
increased by 50% whereas its breadth
remains unchanged, its area is increased

by

(A) 20%
(C) 30%

(B) 25%
(D) 50%

A metallic sphere of radius 10.5 cm is
melted and recast into small right circular
cones, each of base radius 3.5 cm and
height 3 cm. The number of cones, so

formed, is
(A) 105 (B) 135
(C) 126 (D)113

The lengths of the diagonals of a rhombus
are 24 cm and 10 cm respectively. The
perimeter (in cm) of the rhombus is

(A) 68
(C) 52

(B) 60
(D) 50
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78. 9% YaH BRI e, S 999 a2l 6 - SiwhE gen | 42
Sed W A 327 | qutd: faufe g &1, 8 | 86. %W,ﬁﬁg—zaﬁmﬁﬁﬁﬁﬁ?flmfﬂﬂ
(A) 292 (B) 194 4/9 T St #, BNl
(C) 264 (D) 294
oG 75 el e oo
7+3  N7-43  3-1 J3+1
C) 16 D) 81
79. ﬁ-£+ﬁ+£+£+1+£-1 F W (©) (D)
FE W U B R 87. T& YNNI, S WHR &ATS i fhdt W 2 a9 o
(A) 7 (B) 4 ¥ 2,200 d 3 =@ ® 2,300 @ Wt g, ®
(C) 6 (D)9
(A)Z 2,100 (B) 2,000
3.19x3.19-1.81x1.81
80. 319 181 . (€)% 1,800 (D)% 1,600
(4)5.0 (B)6.0 88. T& A I TRV =S ! fordt anfiier wfera <X 9
(C) 3.5 (D) 4.2 T 500 Tl 1% 3tk s W 700 i e foram| A
. 3 fomn & 3 o6 ¥ 36 i At 2 165 &9 &
81. afx 47 = @, @ x H A Am w9 § g @, a veet = of
1 (A) 4% (B) 5%
(A) 5 (B) -1 (C) 3.5% (D) 4.4%
1 1 89. Tl ¥R W 10% oftih =<l i X ¥ 3 o8 &
© -5 D) ~% .
ey SR WO A T =1 % 15.50 | o
82. T Weell ® 17 W WM % W IThA HAI: 13 RN
gl 11 9T B F A% 39 <A gemet & Awd &
17 B b . A S e (A)Z 1,550 (B)Z 1,500
A 13 B) 11 (C) 550 (D) % 500
©7 (D)4 90. 3 TH STHAR ©d i T § 50% Wi Ifg HT
1 64 N & WU, Sfer g1 TS STaRatid Wl WY, d g6
83. \/12><125x1.44 ERER ; & g Sl
1 24 (A) 20% (B) 25%
A "2 B) 25 (C) 30% (D) 50%
() % (D) g_; 91. 10.5 9. Wl 3TgAH oIl Teh ¢ o et hi Tsreteht
B T gara v, H 9 U@® & STHER &
84. 3J0.000064 TR T sTgerd 3.5 9. . qen e 3 9. . €, # uRefda
(A) 0.0002 (B) 0.002 fehan STl €1 39 WehR § o o1t Yish3f k1w gl
(C) 0.02 (D) 0.2 (A) 105 (B) 135
3J2 +23 (C) 126 (D) 113
5 el |
92. T GH=qYHS & foshvll =i wwarsal A 24 9. .
3+2J6 den 10 9. ot ¥ guegeds i ufemg (4 . F) S
(A) 5+2V6 B —
(A) 68 (B) 60
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94.

95.

96.

The radii of the bases of two cylinders are
in the ratio 3 : 4 and their heights are in
the ratio 4 : 3. The ratio of their volumes is

(A)3:4 (B)4:3
€)2:3 (D)3:2

[ERY ST
cosA cos A - tan’A is equal to:

(A) 2 (B) 1
(C)3 (D)0
V75 T+

NN AN is equal to:
(A) 12 (B) 6435
(C) 6 (D) 24/35

Ifa?=by + cz, b?=cz + ax and ¢ = ax + by

then what will be the wvalue of
X .y .z

a+x b+y c+z

A)a+b+ B) —+—+—
(A)a+b+c B) S+t g

€)1 (D)0

Ph:

97.

98.

99.

100.

9 2, 9.
If X+;= 6, then the value of | X +; is:

(A) 8
(C) 10

(B) 9
(D) 12

if the diagonals of a rhombus are of measure

12 cm and 16 cm. Then the measure of its
side is

(A) 10 cm
(C) 15 cm

(B) 20 cm
(D) 16 cm

The base of an isosceles triangle measures
24 cm and its area is 192 cm? Find its
perimeter—

(A) 64 cm
(C) 24 cm

(B) 20 cm
(D) 16 cm

2 men and 3 women together or 4 men
together can complete a piece of work in
20 days. 3 men and 3 women will complete
the same work in:

(A) 12 days
(B) 16 days
(C) 18 days
(D) 19 days
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93. T el % SMUR % TEAT 3: 4 F IFUC H 7 9o 9 9
ST HAEAl 4 : 3 % UM | 2| S SqFai wi| 97. aﬁx+;=6%‘l,a‘l[><2+;jaﬂﬂﬁm:

ST 2
(A) 8 (B) 9
€)2:3 (D)3:2
98. 4fE U wgfst 1 faekol 12 Ut w16 T 7 A STH]
94, [ . +1H . _1}—tan2AW%— S T A
cosA cos A
| - (A) 10 9t (B) 20 9t
(A) 2 B) 1
€3 (D) 0 (C) 15 &t (D) 96 Tt
99. |HfgeTg FIYS 1 MMUN 24 YT B 3 3THT LB
V7 -5 J7+5 2 :
95, \/7+\/§+ﬁ_£W%’ 192 WP B1 d THeRT URATT T B
(A) 64 G (B) 20 &+t
(A4) 12 (B) 635 (C) 24 wf (D) 16 T
(C) 6 (D) 24/35

100. 2 3TeHt den 3 SRG T Wi faereht s1eren 4 aTeHt
96. fT a’=by+cz, b?=cz+ax T ¢’ =ax + by @ firereht ferelt el 1 20 T o g0 o whal €13 SRt

X y z a3 3R Wk WY oo SEt % o o g o
a+x+b+y+c+z A &rm? ‘l{{[aﬁ;ﬁ?
1 a 1 (A) 12 f= (B) 16 T
(A)at+tb+c Bty te (©) 18 f&a (D) 19 f&3
(€)1 (D) O
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Part - III (General Awareness)
101. Who was the Viceroy of India when the | 110. Consider the following statements relating
Jallianwala Bagh Massacre took place? to the famous Muzaffarpur murders (1908):
(A) Lord Hardinge (B) Lord Chelmsford 1. The bomb, which was hurled at the
(C) Lord Reading (D) Lord Irwin carriage of Mrs. Pringle and her
102. During whose tenure was the first session dgughter, was actual'ly 1r}tended for Mr.
of Indian National Congress held? 1\K/Ilunz§?f£3';i’r the District Judge of
(A) Lord Curzon (B) Lord D'ufferm 2. The revolutionaries wanted to kill Mr.
(C) Lord Lytton (D) Lord Ripon Kingsford, because he had inflicted
103. Who was the Maratha Peshwa when the severe punishments on Swadeshi
Third Battle of Panipat was fought? activists.
(A) Balaji Baji Rao (B) Narayan Rao 3. Khudiram and Prafglla Qhaki had to pay
(C) Madhav Rao II (D) Baji Rao II the penalty for their action by death.
104. Which of the following was NOT composed Which Ofﬂtlg statements given above is/
by Harshavardhana? are correct:
(A) Harshacharita (B) Ratnavali (A) Tonly (B) 2only
(C) Priyadarshika (D) Nagananda (C) 2and 3 only (D) 1,2and 3
. L 5
105. The first Indian Hindi Scholar of the Mughal 111. Which of the following is NOT truer
period was (A) The Vice-President is the ex officio
. . Chairman of the Rajya Sabha
(A) Malik Muhammed Jayasi . . .
(B) Abdur Rahim (B) During casual vacancies, Vice-
President officiates as the President of
(C) Mulla Wajhi India
(D) Chand Bardai (C) When the Vice-President acts as
106. The king who is described as the “Indian Presi.dent of I'ndia, he ceases to
Napolean” for his expansionist policies is: function as Chairman of Rajya Sabha
(A) Kumaragupta (B) Chandraguptal (D) When the Vice-President acts as
(C) Chandraguptall (D) Samudra ta President of India, his functions as
gup gup Vice-President are carried out by a
107. 26" October, 1947 is an important date in person nominated by him in
the Indian history, because of consultation with the Prime Minister
(A) Maharaja Hari Singh’s signing of | 112. Which one of the following features was
Instrument of Accession adopted by the framers of our Constitution
(B) ceasefire with Pakistan from the US Constitution?
(C) merger of Sind (A) Judicial Review
(D) declaration of war over India by (B) Fundamental Rights
Pakistan (C) Removal of the Judges of the Supreme
108. The Nehru-Liaquat Pact between India and Court
Pakistan was signed in 1950 to resolve the (D) All the above
issue of 113. Who shall be chosen as the Deputy
(A) the protection of minorities Chairman of the Rajya Sabha?
(B) the accession of Princely states (A) Any person eligible to be elected to the
(C) the border disputes Rajya Sabha
(D) the problem of refugees (B) Any person who is for the time being a
109. Which ruler murdered his father, member of the Rajya Sabha
Bimbisara to ascend the throne? (C) Any member of Parliament
(A) Ashoka (B) Ajatasatru (D) A nominee of the President of the Rajya
(C) Kanishka (D) Simukha Sabha

Ph:
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Part - III ( QT SHeRIT )

101.

102.

103.

104.

105.

106.

107.

108.

e SIferataTe 9N SEeER wfed g, R & e
A 47

(A) @€ =Ifen (B) A€ =THARS

(C) @ dfen (D) =€ sfelA

AR T HITT 1 Jorg Afeaym frgen! qemafy 5
g?

(A) e He (B) oE SHRA

(C) @ fore (D) @re o

e T W1 gATd g5 g3, q WIS UEl i o?
(A) SrETST FR Td (B) TREvT &

(C) \reE 1a 11 (D) @it & 11

= ¥ o fFges! WA gvada 3 78 o1 of?

(A) =9 = (B) Tereredt

(C) frRie (D) TR

TS T 1 Jeen aRara &t fagr on
(A) A qemg SEE (B) STsgX WiH
(C) T ATt (D) =% IR=TE

It WER I Aifqal & HROT R 1 Ao’
HEAN aTel ST A1-

(A) AR T (B) ¥ < eH

(C) =% T fgdt= (D) &9 T

e ®RU 26 FR, 1947 TRAE sfae™@ *T TH

@ fafy 22

(A) meren BR fag g erfufder-o W gweR
IERIESIEI

(B) Wifeh&d™ & @ g5-foum

(C) T =1 foreram

(D) W& G 9RA W g5 1 0T

YA 3R TR & a9 1950 § Jee-foramwd T

R sEeR ffatad 5 9 foed 78 & 99eE & fag

ferg M2

(A) STTUHEHI T T

(B) 3 faraal @1 sifufre

(C) Hrm-foremg

(D) TROTE wT T

Ph:

109.

110.

111.

112.

113.

frefafed § 9 o8 wes S o T st e w

o3 B form o foen fagEm Y gen Y o2
(A) TR (B) 3TSITeT
(C) HfT=h (D) faq@

foreama qoToRTqX Bened (1908) & aR | frfated

Fel W fa=m Hifs:

1. o 5|, S Sfmdt G it s et ot 1 et w
ThehT AT o, A : HTFRIGR o Toretl-s1 SiA
frrawie & o sifyga e

2. el fREEE ®i aRAT =Ed o Fifew 3=
el fkaamaneat w1 weR gve fIu o

3. TERM 3R TFeat WH H AW wE F faw
TS, YJ & I H A T80

ST oAl # W HE-/A Tl 2R?
(A) ®aa 1 (B) &ad 2
(C) ®ae 2 3R 3 D) 1, 2 3 3

frefated § 9 SH-91 %Ud ¥et T@ 22

(A) SU-TZAfa [T TH T T A Bl B

(B) s fifddl & SRM Su-Twufd wRa &
Tzafd & w9 H HH HE

(C) & IU-TeLUfd ARG & TUTd o &Y § HH Hdd
& q9 o8 ToF U9 & A o T H HH Bl
I B 3

(D) <& IU-TLUMA ARG & TG o &Y § HH HLd
& 9 SU-Tguld 1 1 IE AT g Teman ST
& fSrgent I o8 qurEs & el 9 e ®

fretfeted & 9 9, . Gfawm =1 faerad sH-9 €

St gR dfgum & fmfaet g7 e wt T eff?

(A) =nfaes Feten

(B) Hiferes tfererr

(C) S=aqH =A™ & AN i g

(D) Sug |+ft

TF | &1 IU-99Mfa fomg g1 Sem?

(A) et «ff =afea =1 St TF 9 &1 I g A=
% form o =&

(B) fordt «ft =afed 1 S 39 T T T 1 TH
il

(C) Tug & fordht oft weea &

(D) TeZUfd 5T T 91 § FAAIG Al ohi
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115.

116.

117.

118.

119.

. What is quorum required for convening the

Lok Sabha?
(A) 1/6 (B) 1/8
(C) 1/10 (D) 1/5

In order to be recognized as an official
opposition Group in the Perliament how
many seats should it have?

(A) 1/3™ of the total strength
(B) 1/4%" of the total strength
(C) 1/6™ of the total strength
(D) 1/10%™ of the total strength
The Constitution of India:

(A) does not provide any clause regarding
the President’s re-election to the office.

(B) restricts the President’s tenure to a
maximum two terms.

(C) has been amended to allow a person for
only one time as President

(D) allows re-election of a person to the
President’s post.

‘The Right to Public Office’is a
(A) Civil right (B) Economic right
(C) Moral right (D) Political right

Which one among the following is the basis
of difference between the Parliamentary
and Presidential system of government?

(A) Power of Judicial review

(B) Method of election of President/Head of
the state

(C) Legislative supremacy in law making

(D) Relation between the legislature and
the executive
Match List-I with List-II and select the

correct answer using the code given below
the Lists:

List-I List-II
(Pass) (State)
(@) Zoji La Pass 1. Sikkim

(B)) Bara Lacha Pass
(c) Jelep La Pass

2. Uttarakhand
3. Himachal Pradesh

(d) Niti Pass 4.Jammu & Kashmir
Code:
a b c d
A) 4 1 3 2
B) 2 3 1 4
(C) 4 3 1 2
D) 2 1 3 4

120.

121.

122.

123.

124.

125.

126.

127.

128.

Madhya Pradesh shares its border with how
many States?

(A) 3 B) 4

) 5 (D) 6

Soil erosion on hill slopes can be checked by
(A) Afforestation

(B) Terrace cultivation

(C) Strip cropping

(D) Contour ploughing

Which one among the following has been
producing/can produce light by a chemical
change?

(A) Sun

(B) Moon

(C) Electric bulb

(D) Lightning and thunder

Which one of the following states does not
form part of Narmada River basin?

(A) Madhya Pradesh (B) Rajasthan
(C) Gujarat (D) Maharashtra
During the Indian monsoon season

(A) the westerly jet stream alone exists in
the Indian region

(B) the easterly jet stream alone exists in
the Indian region

(C) both westerly and easterly jet streams
exist in the Indian region

(D) both westerly and easterly jet streams
disappear

First United Nations Conference on
Environment was held in

(A) Stockholm

(B) London

(C) Montreal

(D) Paris

The term Tsoneph’ indicates the lines of
equal

(A) cloudiness

(B) salinity

(C) rainfall

(D) pressure

'Manas Sanctuary' is located in the State
of

(A) Rajasthan
(B) Jharkhand
(C) Assam

(D) Chhattisgarh

The oldest Indian woman to scale Mt.
Everest is

(A) Bachendri Pal

(B) Premlata Agarwal
(C) Prabha Kumari
(D) Tina Mena
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114.

115.

116.

117.

118.

119.

Wik T TSI e & forg sTafer Torgfd (wRm)

1 7?2

(A) 1/6 B) 1/8

(C) 1/10 D) 1/5

THg H STy fomafl 98 & &9 § d=ar s

FE & fau 3o foray w== g =nfeu?

(A) F TS HEA HT TH-TEE

(B) e TEE T FH Teh-eE

(C) % U&= |&A1 1/6 91

(D) %l U8 |&AT &1 1/10 91

ARA kT HiaeM

(A) Tgafd & 98 R qAareHd & ar § fRdt @ &
IqaY &l HIT

(B) Ttufd o hTiehTel i Aferehad <1 wsrafeEi qe
feraiferd shear @

(C) 39 WehR Heliferd feman won & o wen sAfer Togafa
% ®9 § ®ad T TREY & fau dAIAd &
(D) THfd & U8 & fore foreht =Afa & qAfHared &t

arqafd a1 €
‘qreiStteh U w1 SR §
(A) TRER AfwRr (B) emfefw sifusrr
(C) e arferspr (D) TSHiTde iR
frefofad § o ®iF-9 Th, GO S STeelcsh
YA S & o 3T 1 SHN 22
(A) =t qAfdeRd i e
(B) TeeufdA=aeas & fiatad &1 qomett
(C) fafu-fmior & faurht wateaa
(D) Terenfersht SR shrefurfersht & = Hee
TE-1 1 GE-11 % w1 gafoa $ife ok gieai &

= fRu MU wHE w1 T W wE W g
geit-1 TqEt-11
[t ()] [=a]
a. SISt & 9" 1. faferm
b. I A= 9 2. ITETE
c. Sied @1 g 3. feAr=a w=w
d. #fq = 4. W 3R FTHR
e
a b c d
A) 4 1 3 2
B) 2 3 1 4
C) 4 3 1 2
(D) 2 1 3 4

120.

121.

122.

123.

124.

125.

126.

127.

128.

foha Tl & W Aem W9 1 G e 22

A) 3 (B) 4

(C) 5 (D) 6

e WAl (hill slopes) W U TWEA hi fhd
R T feran S ek 22

(A) T

(B) HaH-Hfu

(Gcoicusen

(D) H=RET TATE

frafafad & § SF-91 T, TaEfes aiedd & gh
YRTYT I HIAT @1 o/F Hehdl 87

(a) ¥

(B) ==H1

(C) forea =

(D) dfed wd @8 TS

11 & @ HE-T1 T T TE T e fewmn e
22

(A) 7E T=_W (B) TS
(C) Terad (D) HERTSS
TR A =g % SR

(A) R & o et S o rehel foerme € g

(B) WRdt™ &5 § Yot Sie o a7ehedl TomM gl €

(C) 9t &= & ufemt 3R et S S v foeme
e &

(D) 9ferdt iR gaff < Sie vaE o B §

TATGROT T TEE G T hal SIS gt or?

(A) wiHem

(B) &=

(C) wifzsrel

(D) ufR@

‘AMEHAE ' I% WM - Al W@ & g @
(A) FerEE (B) &FvTa

(C) =i (D) ==

‘o Tyfaer’ R T o fem #2

(A) e (B) #R@E

(C) sr&m (D) BdrETg

TR TARE i A W TG Jelt qa¥ T4 71 i
GRS S B 22

(A) T I
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129.

The coating of which one of the following
metals on iron is termed as ‘galvanising
(A) Zinc

(C) Cadmium

(B) Copper
(D) Tin

130. Which of the following waves can propagate

131.

in a vacuum?

1. Radio Waves

2. Light waves

3. X-rays

4. Ultrasonic waves

Select the correct answer using the codes
Codes:

(A) 1,2and 3 B) 1,2,3and 4

(C) 2,3and 4 (D) 1,2and 3
Match List — I with List — II and select the

correct answer using the code given below
the Lists:

List - I List - II
(Vitamin) (Chemical
Compound)

a. Vitamin A 1. Thiamin

b. Vitamin B1 2. Retinol
c. Vitamin C 3. Ascorbic acid
d. Vitamin E 4. Tocopherol
Code:
a b c d
A) 4 1 3 2
B) 2 3 1 4
C) 4 3 1 2
D) 2 1 3 4

132. The temperature of a body is an indicator

133.

of

(A) the total energy of the molecules of the
body

(B) the average energy of the molecules of
the body

(C) the total velocity of the molecules of the
body

(D) the average kinetic energy of the
molecules of the body

Neoprene, a synthetic rubber in made from

(A) Dichloroethane

(B) 2- chlorobutadiene

(C

) Carboxy-methyl cellulose
(D)

Methanol

Ph:

134.

135.

136.

137.

138.

139.

140.

The rusting of iron nail

(A) decreases its weight

(B) increases its weight

(C) does not affect weight but iron is
oxidized

(D) does not affect weight but iron is
reduced

Which one of the following is heavy water
used in nuclear reactor?

(A) Water having molecular weight 18 amu
(B) Water having molecular weight 20 amu

(C) Water at 4 °C but having molecular
weight 19 amu

(D) Water below the ice in a frozen

Which one of the following is an example of
vestigial organ in man?

(A) Jaw apparatus
(B) Ear muscles
(C) Canine teeth
(D) Humerus

Commercial vulcanization of rubber

involves
(A) sulphur (B) carbon
(C) phosphorus (D) selenium

The plant dye Henna imparts orange-red
colour to skin and hairs due to its reaction
with which of the following?

(A) Proteins and amino acids
(B) Lipids
(C) Carbohydrates

In which State of India, was a non-Congress
government formed for the first time?

(A) West Bengal (B) Tamil Nadu
(C) Pondicherry (D) Kerala

Match List — I with List — II and select the
correct answer using the code given below
the Lists:

(D) Nucleic acids

List - I List - II

(City) (Stadium)
a. Bangaluru 1. Sawai Mansingh
b. Chennai 2. Sardar Patel
c. Motera 3. Chinnaswami
d. Jaipur 4. Chidambaram
Codes

a b c d

(A) 1 2 3 4
B) 3 4 2 1
)1 3 2 4
D) 3 2 4 1
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129. frafafad ugsti § 9 @R W fouwl wa =g | 135. frfafea § 9 siF-1 76 Sid @ S A g
‘TearTéfstT’ heet 82 o W e 22
(A) s (f57=F) (B) Tt (A) 18 amu STfvaF 9 F1
(C) Fafm (D) (B) 20 amu 3Tfvas 9R &1 e
130. Frefofad & @ wA-dt faoiaat fefa & 9 gafa
B gdt 2 (C) 4° ¢ dm9 k1 S, fSrEeh1 AU 9’ 19 amu
1. ear o 2
2. W;f; (D) S T wx A % % F T 5
3. T . . .
PSRN 136. %ﬁw o W RH-F e | a3 T ST
= T T 2 H FE F TR IW G
= (A) 7 T (S )
(A) 1,2 3R 3 B) 1,2, 3 3R 4 (B)awfﬁrsﬁ
(C) 2, 3 3R 4 D) 1, 2 3 3 (C) T
131. ge-1 %! Gei-11 & @11 Gaferd s @ik gieat & (D)WW
= ST T Fe F TA F GE IW AU ,
. o 1 137. TS o A doh-ehiol | fereeht waim wfiet 82
(fretfirt) (TraTafTe s ) (A) e (B) e
a. foerfia A 1. oA (C) THrEHRY (D) faetfm
b. faerfrt B, 2. et 138. 5 % w9 § TR RY S Frefatad § @ e
. faarfi ¢ 3. e o AP F AT qe @ 1 AR -
d. fqaf= E 4. THHUA X
%a . oy (A) 9 SR A st (B) fafrs
(A) 4 1 3 2 (C) FHERge (D) erefTeh Tet
:1(3:))421 g i ‘2‘ 139. 9a & foFq U= © Teelt 9’ IR F1I TR o ofi?
(D) 2 1 3 4 (A) gfe=m e (B) e g
132. foet ww fuve @1 qomH f=fafeaa 9 9 feae (C) wife=d (D) &
o 2 | 140. G191 -1 % T Gifer FRT ok ghd &
(A) favs & sttt = £ S = fw T w2 WA R EE IW R
B) fyve = srupei =1 siwa i _—g —_——
(C) fave & T[T &t HA =M@
(D) fve % s =1 sivg i o (¥&) (wefemm)
133. fe, st fF & G @ 8, a9 © a. ATIE 1. WO AH(Ee
(A) SEFARES | b. o 2. TER
(B) 2- FARE | c. TR 3. fomreart
(C) reierd-Aemse Hogeid |
D) Ao d. SR 4. feeram
134. ©® & el § S oH W &S
(A) SH® WK & HH 8 Wt @ a b c d
(B) 8% W H gfg et & @A) 1 2 3 4
(C) TR & ¥ wfe T g, g el SR B3 4 2 1
_“ﬁm% . § (C) 1 3 2 4
D) 9R # =[g qferda =&l B, tfuq wrel fesiiafisa D) 3 5 4 1
g @
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141.

142

143.

144.

Processor’s speed of a computer is
measured in

(A) BPS (B) MIPS

(C) Baud (D) Hertz

‘Repo rate’ is the rate at which

(A) the Reserve Bank of India lends to State
Governments

(B) the international aid agencies lend to
Reserve Bank of India

(C) the Reserve Bank of India lends to
banks

(D) Other banks lend to Reserve Bank of
India

The objective of the ‘Golden Handshake’

scheme was to:

(A) stabilize the prices of gold in the market.

(B) improve the labour-management
relations in industrial organizations.

(C) close the sick industrial units.

(D) reduce the burden of overstaffing in
public enterprises.

Match List — I with List — II and select the
correct answer using the code given below
the Lists:

List - I List - II
(Phone Brand) (Brand Slogan)
a. Nokia 1. Be inspired

2. Next is what?
3. Connecting people
4. Ideas for life

b. Samsung
c. Panasonic
d. Siemen’s

Codes:

A B C D
(A) 3 4 2 1
B) 1 2 4 3
) 3 2 4 1
(D) 1 4 2 3

Ph:

145.

146.

147.

148.

149.

150.

March list of days given. Pick up wrong one?
(A) 8 March - International Women's Day
B)

(©)
(D) 22 March - World Water Day

15 March - World Consumer Day

17 March - National Vaccination Day

Yoshihiko Noda who was on a visit to India
recently is the present Prime Minister of-

(A) Myanmar (B) South Korea

(C) North Korea (D) Japan

Who received the 23 Moorti devi Award?

(A) C. Narayan Raddy
(B) Akkitham Achuthan Namboodiri

(C) O.N.V.Kurup
(D) Veerappa Moily

How many teams participated in 2011

Cricket cup?
(A) 15 B) 18
C) 14 (D) 10

Which day is celebrated as Earth day?
(A) 18 April (B) 14 April
(C) 22 April (D) 23 April

The highest number of wickets taken in

World cup Cricket 2011 is..............
(A) Murali Dharan (B) Yuvaraj Singh

(C) Zaheer Khan (D) Shahid Afridi
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141.

142.

143.

144.

N -
T ST 22

(A) SrHLTE.

(C) e

R aE R W

(A) 9Re fed 9% 19 TN H B @ 2

(B) RIS TEmdl HeeTd YR istd s i %0
= 7

(C) wRdra s/ o 371 o%! 1 =07 31 ©

(D) 311 S WRAa fd o &1 B0 W 2

“Tiieed Bregieh” ASHl 1 SETA 1 12

(A) 9NTR ® GF T SiAd 1 ek

(B) STEifiter SeAl § sH-Weu Gal i YRl

(C) SR Sfreifitr Shtgal i &% HT

(D) @St STwAl # wH=EAR sfafigfeq
(SEREIEBT) o AR 1 FHH B

(B) TH.STE.W.U4.
(D) &

)
)

-1 1 GE-11 % w1 gafora sifae ok gieai &
= fRu MU FHE w1 T W wE W g
Tqeit-1 TqEt-11
(IF W |E) (TS T TAR-ATHT )
a. Tifeman 1.3?[37\‘?‘11?5{@
b. T 2. TRL S =2?
S EIIEED 3. Afee dide
d. dig 4. STEfea™ R ARH
6
a b c d
(A) 3 4 2 1
B) 1 2 4 3
() 3 2 4 1
D) 1 4 2 3

Ph:

145.

146.

147.

148.

149.

150.

& T A w g §, - T T 22
(A) 8 W - T HAfgen feaw

(B) 15 7= - fova Iudierm feaw

(C) 17 5 - U erefi feam

(D) 22w - favasa feaw

E A R AR 1 G e T e ™ 1| 41 - | | RO £
I GHEEST 7

(A) T=IER (B) =faor i
(C) I wifear (D) ST

23 o gfd et R fohw ei@s i fean @
(A) o TAM Tt

(B) STHRRIAM STodI™

T gl
(C) o ¥A. ot ®E®Y (D) e Higell
forshe fava 1 2011 ¥ foRat 3w 7 fewmn fa=n?
(A) 15 B) 18
(C) 14 (D) 10

7 & ¥ ®H-w &7 geat o & w9 F 7R S
2l

(A) 14 318 B) 14 31¥a
(C) 22 7@ (D) 23 15

forehe fava 9 2011 ¥ o9 S TR oo
3 form =

(A) T o
(B) Fwst e
(C) SR =™
(D) wmfe ST
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Part - IV (English Comprehension)

Directions (151-155): In the following questions:
The first and the last parts of the sentence are
numbered 1 and 6. The rest of the sentence is
split into four parts and named P, Q, R and S.
These four parts are not given in their proper
order. Read the parts and find out which of the
four combinations is correct. Then find the
correct answer and indicate the correct response.

151. 1. A foolish wolf saw a horse grazing in a
field and decided to eat him.

P. The wolf went and stood the horse
wondering if horse’s tail was the
passport Just then he received such a
kick on his face that two teeth fell out
of his mouth.

Q. Ifyou come and stand be me, I will show
you what a passport is.

R. “Whatis the passport ?” asked the wolf.

S. When the horse saw the wolfit said “you
cannot eat me, I am a passport”.

6. As the wolf lay dazed the horse made
good his escape.

(A)PSQR (B)SRQP (C)RQSP (D)PQRS

152. 1. Speech was the first means of convey-
ing information

P. Thirdly printing helped in semination
of knowledge in permanent form.

Q. Then writing as a means introduced a
capacity for storing information.

R. Computer is the only medium that can
not only store but analyse information
to make decision.

S. However, all these are passive media.

6. Therefore, computer is hailed as the
fourth information revolution.

(A)QPSR (B)PQSR (C)QRPS (D)QPRS

153. 1. Wars always give rise to partiotic feelings.

P. This does not mean that are absent

Q. Howeverin times of peace it lie dormant

R. After all, a good economy is also a
deterrent to inimical foreign forces

S. They, rather, covertly urge the society
to work.

6. Hence we should focus our energies for
the over-all development of our nation.

(A)SQPR (B)QSRP (C)PRSQ (D)RSQP

Ph:

154.

155.

1. We were taking tea at the Rathna Tea stall

P. We found a tourist bus which had just
rammed into a tamarind tree on the
road side.

Q. We rushed out of the tea stall

R We helped the passengers to get out the bus

S. Suddenly we heard a loud noise followed
by cry for help

6. We informed the hospital and also the
police about the accident.

(A)SQPR (B)QSRP (C)PRSQ

1. Many kinds of ants are blind

P. For these blind ants, the senses of touch
and smell are of help

Q. As they run along the ground, small
humps of earth keep them aware of land
marks

R. The sense of smell is located in the
antennae or feelers

S. Do you know how they find their way
home

6. You could have noticed that these
feelers are always moving.

(A)SQPR (B)RQPR (C)PRQS

(D) RSQP

(D) SPRQ

Directions (156 - 163): In the following
questions a part of the sentence is lined. Below
are given alternatives underlined part at (A),
(B), and (C) which improve the sentence. Choose
the at alternative. In case “no improve is
needed, your answer is (D).

156.

157.

158.

159.

160.

The greater the demand, higher the price.
(A) high (B) the high

(C) the higher (D) no improvement
I prefer to ride than to walk.

(A) riding to walking  (B) ride to walk

(C) riding than walking

(D) no improvement

The workers went on a strike asking for
better pay and service condition

(A) requesting (B) demanding

(C) needing (D) no improvement
He backed out of the agreement.

(A) gave his full support

(B) reconsidered the point

(C) withdrew his support to

(D) no improvement

Man is the only animal who can talk.

(A) which (B) whom

(C) that (D) noimprovement
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161. He did not know the answer, I did not
neither.
(A) neither did I
(C) neither have I
(D) no improvement

(B) either did I

162. When the owner offered tea, the peon
denied it.
(A) disliked
(C) disobeyed
(D) no improvement

(B) declined

163. “Do you remember his phone number? I

don’t suspect so.”
(A) don’t think

(C) may think

(D) no improvement

Directions (164-168): In the following
questions, sentences are given with blanks to
be filled in with an appropriate and suitable
word. Four alternatives are suggested for each
question. Choose the correct alternative out
of the fouri.e. (A), (B), (C), (D).

(B) don’t thing

164. I have given myself the end of
September to finish my research.

(A) between (B) until
(C) to (D) for

165. Itis that John did not hurt himself
when he fell off his motorbike.
(A) luckily (B) fortunate
(C) understanding (D) found

166. You must not look directly at the sun
the eclipse.
(A) during (B) in
(C)on (D) to

167. The mist was so thick, it was like walking
___ acloud.
(A) beyond (B) by
(C) along (D) through

168. I told my friend that he could not catch a
bigfish _ asmall rod like the one he
was carrying, but he insisted _____ trying.
(A) with, on (B) by, about
(C) with, about (D) by, on

Directions (169-173): Each of the following items
consists of a phrase in the stem of the item
followed by four options (A), (B), (C) and (D). You
have to identify from the given options as to
which one of them correctly describes the phrase.

169. To surround a place with the intention of
capturing it
(A) Bivouac (B) Besiege
(C) Invade (D) Intern

170. To send back a person from one’s country
(A) Repatriate (B) Expatriate
(C) Migrate (D) Emigrate

Ph:

171. One who is opposed to intellectual progress
(A) Impostor (B) Chaperon

(C) Prospector (D) Obscurant

A woman with dark brown hair

(A) Blonde (B) Brunette

(C) Termagant (D) Coiffeur

One who has special skill in judging art,
music, tastes, etc.

(A) Connoisseur (B) Raconteur

(C) Sybarite (D) Amateur
Directions : (174-183) In the following passage
some of the words have been left out. First
read the passage over and try to understand
what it is about. Then fill in the blanks with
the help of the alternatives given. Mark your
answer in the Answer Sheet.

172.

173.

A merchant was 174 a morning stroll by the
seaside when he saw a man squatting on the beach
and filling a cup with sand. The merchant watched
the man as he 175 the contents of the cup on a
large pile of sand beside him and filled the cup again.
He continued to repeat this activity. The merchant
was curious and so went upto him and asked him
what he was doing. T am Bidhata (meaning Fate),’
said the man. T am measuring the food each man
is to 176 today’ ‘Can you really do that?’ asked the
merchant. T 177 you to withhold my midday meal
today !’ ‘As you wish,’ replied Bidhata. The merchant
178 a fish from the fish market across the road,
took it home and gave it to his wife. Then he went
to his place of work. In the afternoon he came home
and sat down to eat. His wife 179 the cooked fish
before him. Fate has it that I won'’t get my midday
meal,’ 180 the man. ‘But now who can stop me from
eating this delicious fish ?’ And he 181 out laugh-
ing. His wife thought he was laughing at the way
the fish had been 182 and she began to scold him.
The merchant got angry. He got up and stormed
out of the house. It was only when he cooled down
that he realised the 183 of what had happened :
Fate had succeeded in withholding his share of food
for that afternoon.

174. (A) taking (B) thinking
(C) going (D) doing
175. (A) throw (B) keep
(C) fill (D) emptied
176. (A) insure (B) deplete
(C) receive (D) eating
177. (A) remind (B) plead
(C) say (D) challenge
178. (A) trapped (B) tasted
(C) bought (D) chased
179. (A) made (B) keep
(C) placed (D) ate
180. (A) rejoiced (B) wonder
(C) announce (D) thought
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181. (A) burst (B) started
(C) turned (D) walked

182. (A) prepared (B) appeared
(C) look (D) taste

183. (A) mistake (B) offence
(C) significance (D) problem

Directions (184-188): Each of the following
items consists of a sentence followed by four
words or group of words. Select the antonym of
the word (occurring in the sentence in capital
letters) as per the context.

184. INERT

(C) Strong (D) Resolute
185. TANGENTIALLY

(A) Partly (B) Forcefully

(C) Candidly (D) Fitfully
186. ESCALATING

(A) Fixed (B) Fluctuating

(C) Falling (D) Reasonable
187. MALICE

(A) Sympathy (B) Goodwill

(C) Friendship (D) Attraction
188. AFFLUENT

(A) Poor (B) Ordinary

(C) Infamous (D) Backward

Directions (189-193): Each of the following
items consists of a sentence followed by four
words or group of words. Select the synonym
of the word (occurring in the sentence in capital
letters) as per the context.

189. INDIGENT

(A) Indian men (B) Poor

(C) Guilty (D) Untried
190. ABATED

(A) Reduced (B) Vanished

(C) Increased (D) Stabilized

191. IMPLACABLE

(A) Relentless (B) Pleasing

(C) Dangerous (D) Courageous
192. INSOLENT

(A) Violent (B) Polite

(C) Insulting (D) Frivolous
193. PRAGMATIC

(A) Practical (B) Playful

(C) Causal (D) Clever

Directions- (Q. 194-197): In this Section, you
have a short passage. You will find questions
based on the passage. First, read the passage
and then answer the questions based on it. You
are required to select your answers based on

Ph:
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the contents of the passage and opinion of the
author only.

PASSAGE

The dog fence in Australia has been erected to
keep out hostile invaders, in this case hordes
of yellow dogs called dingoes. The empire it
preserves is that of wool growers. Yet the fence casts
a much broader ecological shadow. For the early
explorers, a kangaroo or a wallaby sighting marked
anote-worthy event. Now try not to see one. Without
anative predator there is no check on the marsupial
population. The kangaroos are now cursed more
than the dingoes. They have become rivals of sheep,
competing for water and grass. The State
Governments now cull more than three million
kangaroos a year to keep Australia’s natural symbol
from over running the pastoral lands.
194. The Fence is meant to keep the—

(A) kangaroo in and the dingo out

(B) kangaroo in and the sheep out

(C) sheep in and the kangaroo out

(D) sheep in and the dingo out
195. Australia’s national symbol is—
(A) Kangaroo (B) Wallaby
(C) Sheep (D) Dingo
What has led to the unchecked growth of
the marsupial population ?
(A) The building of fences
(B) The absence of native predator
(C) The culling of kangaroos
(D) The availability of water and grass
197. The marsupial population is up in Australia

because—

(A) both wallaby and kangaroo count as

marsupials
(B) the kangaroo consumes the water and
grass of the sheep

(C) the dingo cannot get at the kangaroo
(D) the kangaroos are fenced out

Directions: (Q. No0.198-200): Some of the
sentences have errors and some have non. Find
out which part of a sentence has error and
blacken the oval corresponding to the
appropriate letter (A), (B), (C). If there is no error,
blacken the oval corresponding to (D) in the
answer sheet.

198. (A) The captain with the members of his
team / (B) are returning / (C) after a
fortnight / (D) No error

199. (A) After returning from / (B) an all-India tour

/ (C) I had to describe about it. / (D) No error

(A) The teacher asked his students/ (B) if

they had gone through / (C) either of the

three chapters included in the prescribed
text. /(D) No error

196.

200.




q

QECC,
bsan

% PARAMOUNT

Coaching Centre Pvt. Ltd.
An ISO 9001: 2008 Certified Company

(of=1314 (-1 | 4l & MUKHERJEE NAGAR * MUNIRKA % UTTAM NAGAR * DILSHAD GARDEN # ROHINI * NARELA

ROUGH WORK

um

Ph: O11-27607854, 08860-333-333



